o4

PEZR

FE—FHIREA RS

TR
—. WEE (JL29 )
1 S A% (20 70
30+6= 84-30= 65-9= 42-20= 70-6+20=
67-6= 32+20= 34-8= 70+30= 94-7-20=
53-7= 60+12= 80—4= 15+8= 8+34+50=
4T+5= 40+23= 36-30= 9+45= 42+7-20=
2. AT (990
9+37425= 90—45—26= 68+13-57=

. BEBE (3t 255
1.38 kL 12 £ ( ), Lk 67 2 29 %R ( Do

2. (1D — ¥ 39, — /M 20, fE ( );

(2) 336 BAE ( ), 4x5 FAE ( Do
3. +7 +7 +7 +7
14 ——» e —_— s
—6 —6 —6 —6
O O e —_ 12

g8 O EH > | <sh=



5. /NI 62 BbE, /NEMFELL/NEZ, /NLRIRELL NI N R
S C D) B, MMIEEZHA () Bl

6. AL
(1) 5. 10, 15. 20, ¢ O. C Do

(2) 81. 72, 63. 54, C ). C ),
(O S TPRVANIVANIVANIVANIVANIVANIVAN
WA AANANANNNANNNNANA
(D HATHLE O D) AN, S TRFEZ.
(2) H{ATEE ¢ D) AN, mAE—TRFEZ.
(3) MEBEZATE ) MARIE—AT, PiTARFEEE,
= EEE (EEmEREmN BT “v 7,310 4
L. 154t 60 RIE AR ( Do
90-32 [ 42+21 [] 75-20 []
2.3x4 ApERIR ( Do
4+4+4 [] 3+3+3+3 [ 3+4 []
3. Sese B AN 80 U HCH A, 28— RE T 21 0, H-RE T 26 W,
BERMEMNE ¢ ) TWIFEE.

47 [] 48 [] 33 [
LEERE () AMEE.
3 [ 70 0 [ \

5. fE—KIET AR LB N — =ML, # N ARREZC D,
=] hiE ] Pl [



Y

H

DO, BfER (35— 34y, EoB4s, Hefs 1y, 1040

L N BRI =T D RET LA 73— 28, FHE— 3

ERR AR

C >N C >N C >N

2. f£ AT RS A8 Bl — D =M — AT AT L .

3. M,

OO
h 7 WA | HiE | AN

ORGEEE

Fi. FERFISRUE CGE1E6 5, FH282 %9, H8)
1. etz HAGHE.
9699
@@@@ ( ) A ( ) AR
J
- J
~

( ) A ( ) AR

Y

X = E/Q X =




2. 39 1

pi: alELE
'z
i — ]
? iR

Il
—~
~

O

N~ RRERE (X3 5y, L 18 70)
LWL T 63 MRS, WML A% 2 0cde 15 AR, IS 1
2 /D MUEER?

Ol =] J¢ >

2. JRAKA 60 BRESKE, Wz | 46 KR,
(o EREHme | O = ] >
(2) XK 358, BE—IH 2 /DB
O = C
3. XKLL [ 36 FAk. NEHLEHIN/ER 14 7, WAXZER 18 H. /b

RV 20k

Ol 1= ¢ >

AT EAFSEH 137 SR, RARSEH T 23 MR 12 SRR
X—R3L 7 2R

Ol =L ¢ >

(2) HEHZONET, MAEENERFERS 17

Ol =] ¢ >




